Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2020

Subject Name : Energy Audit and Conservation Techniques
Subject Code : 2TEOSEACL Branch : Diploma (Electrical)
Semester : 5 Date : 28/02/2020 Time : 10:30 To 01:30
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams & figures (if necessary) at right places.
(4) Assume suitable & perfect data if needed.

Marks : 70

Q-1 Attempt the following questions
a. Full form of CFC is...............

a)cloro full carbon
b)central commission center
c)colour full carbon
d)none of above
b. Full form of OLTC is?
a)on load tap changer
b)off load tap changer
c)on load tap charging
d)off load tap charging
C. Simple interest I=..............
a)PR/100
b)PN/100
c)PRN/100
d)PRN/1000
d. Payback period=..............
a)1/ROI
b)ROI
¢)1/Sinking fund
d)Sinking fund
e. 3 star means unit yearly used
a)501
b)400
€)626
d)728
f. % losses occurs in transmission and distribution
a)22 %
b)14%
€)8%
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d)88%
Value of form factor is............
a)1.11
b)1.01
€)0.01

d)none of above
h.

The main objective of energy management is to
a)Minimize energy cost

b)Minimum environmental effects
¢)(A) and (B) both
d)D) none of above
I Full form of GUVNL is

a)Gujarat urja vikas nigam limited
b)Guijarat urja vij nigam limited

c)Guijarat urja voltage nigam limited
d)none of above
j.

Which gas causes global warming among the following?
a)CFC
b)SO2

c)02

d)Argon
K.

Greenhouse effect refers to increase in
a)Global temperature
b) Carbon monoxide

c)atmospheric pressure
d)Greenery
l.

Which of the following is not a Primary Energy Source?
a)Oil

b)Natural Gas

c)Electricity

d)Wood
m.  What is the overall efficiency of thermal power plant in India?
a)22-27%

b)28-35%

€)35-40%

d)40-45%
n.

Which Quantities are measured by Tri Vector Meter?
a)Active Reactive power
b)Power factor
c)Frequency
d)voltage

Attempt any four questions from Q-2 to Q-8
Q-2

Attempt all questions
(A) Explain Greenhouse effect.
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Q-4

Q-7
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Explain ABCD formula

Attempt all questions
Explain term pay-back period and return of investment.

Give types of Energy audit and explain it

Attempt all questions

Draw and Explain Combined Cycle Power Plant
Explain small hydro power plant with its advantages

Attempt all questions

Write down Main Elements and its Auxiliaries for Different types of Power station.

Explain causes of high transmission and distribution losses

Attempt all questions
Explain Acid Rains with appropriate diagram
Explain how we can conserve energy at domestic sector .

Attempt all questions
What is Deprecation? Explain Straight Line Method in detail
List out various Various Measuring Instruments and give its function.

Attempt all questions
Explain Global Warming and its Effects
What is tariff? Explain objectives for it.
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Q-1

Attempt the following questions

© CFCof Yol altd ...............

e)sAlRl AR stolat

Az sAUt A2

9)scR gct stelol,

h)GUR Hil 818 o3
OLTC o] Y3 ollH ?

e)3llot AllS SU Ao%R

falls cls U Ao

g)allet AlS 2U AXTB0L

h)alls Als U ALTB0L

AE U I=..............

e)PR/100
f)PN/100
g)PRN/100
h)PRN/1000

QAas QRas =..............
e)1/ROI
f)ROI
g VRS §s
h)RSlaL §s
3 RAR Hctdol

€)501
f)400
9)626
h)728

2lot ot U Slellogftot Ul ...

€)22 %
)14%
9)8%
h)88%

S 3522 ofl (Bt ..o,

e)1.11
)1.01
0)0.01

h)Gu: il 8¢ (@

Wotof] AU oll Yyl & 9 B?
e)Aatofl ol (31 2l

A eyl weR

% B2l Al A B
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g)(A) Al (B) olal
h) 818 ol
i GUVNL of Yol ot ¢ ..oooo..... )
e)d[%RAcl Gt [Asiu oflotnt [@AH12s
f)ojsAct Gt (Ao oflot (A{l2s
9)2%s2Uct Gl e oflotdt [AHI2s

h)Sle «@

J oAletet cllfTol MIZ HuRl SCUGLER cll?) 5A01? @

e)CFC
f)S02
g)02

HESENL
k. Aot 616U AUUR Aoll AU AR B? (1)
e)0AHA lUMLat
f)stolet WSS
g)UALERBL of Eollat
h)AA A3l
I ol Aotl Hiell 52 YauMs Gost B otell? 3
a)ad
b)ARURA A~
c)(@osofl
d)alss

m. ARl ofl e wld WaR e ofl R A A A3R=UR Secll B2
£)22-27%
f)28-35%
g)35-40%
h)40-45%
n. glfase? Hle? ad se5 g2l Wl asia d ?

e)Als2a Al uar

HUlaR ¥seR
g)ugl(d
h)clc2es
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
(A oflot 616U WU UM (7)
(B)  ABCD Slaugfcl uHsdl (7)
Q-3 Attempt all questions (14)
Page5 || 6



Q-4

Q-5

Q-6

Q-7

Q-8

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

U As VIS Aal Jedd As Bedroe ol caAlvall WU A UHHLA
Wotlos] AlSle oll YsA welcll dal Al

Attempt all questions
$10{ 80 UETSE UL Wlloe €1 Wal AHALA

A LBl UlER Wellod doll SIRAEL UL UMl

Attempt all questions
WEL YEL USIR oll UlclR R¥ot HI2 ol Yyl cect Al WSAHAI AHs1

8l glortHliot U Slellogjot AR aUclloll 5100 UM

Attempt all questions
2o wlglA AUA ARS dRULE AU

SRS (Aewat Hi Gost a2 ¥cll A 539 UMl

Attempt all questions

dAUR WA 9? Aoll e Aol ofl I (Qrefct Ul A=A
el EL USIR oll N30l Alboll oll ol Avll €38 of sl AU

Attempt all questions

AAA ATl WA Aol WAR AHAA
23ls We@ 9?qall HIZ oll LAA Al

Page6 || 6

< =

A 1\5‘\’

()
()

(14)
()

(")

(14)
()

(")

(14)
(")

(7)

(14)
(7)

(7)

(14)
(7)

(7)



